BRSEE H8R HHIE

EIEZ < 3T =1
B 2V e



HREAFTEER
RN RS Y

4R Wl FEAL
BRE FHE kW % @

] Bl Bk B K 2 M At

SR



— -~ D T e < e

B B#ERRSE (CIP) i3

BEREANE B R TE 4/ 8 0, SRR F 4. —
k¥ B PR A AR, 1999. 6

ISBN 7-81024-563-5

LB 1O @F- 1. 8E-BFFAE- ALk
R V. H31-44

T AR A 18 CIP $HB R (1999) 4 27902 &

o O £ O T 1
11 Y R B Y 34K . 410073
K83 @ Idlic. cs. hn. cn
wiERE S & wEHd.x 8
FEBEREIREITHSY
BB R KPR ek
850X 1168 1/32 EN3K.14.75 ¥ .370 F
19995 6 A 1 M5 1 KEDR]  Ep¥.1-5000 i}

*

E {ft:20. 00 5T



il

Hil

EPREUFH(998 ELEWMIHRENEFREFEFR
KREEEFBEIUITREN . BPARBITABYE RS BEH
HMeNRGER RBRITF, BEHEELRRE RNES 1999 FH%
B, He X HAEAT T 2 W A B 20, X2 2 3R B 8 R & 41 et
AT T MAMFE L mF L 20 ERMAE  ESRE SR
REAR—H,

A3t 20 EBBIRT R 1998 45,1999 L H N ¥ %R,
HRNSZEEX . BEH/ . EE8 T(RAVLEHFANENCHE
Mogu: Wi B RiEEREM R, B RET AR EMIIg%%4E%
HRENED HE. SESINEFSHZCMBX.

FHELAE SR EFEEE B . RBNREN. Rk
REFHFH—FTFH.

RELRNMLBHT T AINFEIT. BETHECR, BRE
Bid s UK EE KRG HIEIEIE.

mE
199945 A



T TSRS O B |
TSt 2 vorverrereerssscerrnossanesensaneossseenneosssienrssssensanens (22)
TSt 3 +ererevrrrrenrneeennncssneesieeennessereesreonsrnessesssseennesss (4])
TSt 4 +eevveressrerrsreenrienesnsssenennssssneesnessssnessnssnseonnnses (61)
TeSt § eervvrerernescnansarieneanessseresunosesssnnecennnesnessneessnenss (80)
0 (1)
N S T T S S S B L)
Test §  +eeereverrresssesnarernmoiissiessenesnesnssisesesesseeanenneses (137)
TeSt 9  «overrersersrreesrasiarornnnesnraeeanssnssssnsesnennssensenens (157)
Test 10 sreeresetssenmsreriiieranianienesnssnieensessensessnrssseensne (176)
Test 11 +reeeeeesernnreneernennenrennesnnssesnesssenesrssneonensenese (196)
TeSt 12 +reveeseeresrerssrssenrenarannsnnssiassnnnsnsseeseeonsssennenne (213)
Test 13 erevereeseeserresissnnresrennnsensnnensssrssneneesesorsssenns (233)
Test 14 coreeeeesersnnesmrarnunerieutesnsanesnenenrssneanemmesmescesss (252)
Test 15 sreveeeeeesetesersoniarnennereennnaniserssensennensesnsonens (271)
Test 16 «eevrserseescrsssnssranenrenneuerannsensnsesrnnesnessesnsensnne (288)
TeSt 17 +reveereessssresssrennernenenasnsansssnnessesessesasssnensenes (307)
Test 18 «erererersestisenssvnrineunesnetensenenssrennesnesssassesnnne (327)
Test 19 seeeereesersersensasenuennererenseninsnnnnessesensssnsnnenes (347)
Test 20 seeereaesrreresessenissosennesenreensssnnarannesneseneessnene (365)
Key sreerveeenrsennmnniininitietniensescnssn stnne e e ssenenenes (385)
1998 SE LB M RAENEHIAIFBRF -ooveveereerener (415)
1999 F LR HRAEANEFRIIFIRE o ooveeeeeeeeeee (438)



Test 1

Part I  Structure and Vocabulary
Section A
Directions :

Beneath each of the following sentences, there are four
choices marked[AJ,[B],[CJand[D]. Choose the one that best
completes the sentence. Mark your answer on ANSWER SHEET
I by blackening the corresponding letter in the brackets with a
pencil. (5 points)

Example:

I have been to the Great Wall three times __ 1979.

(AJfrom [Blafter [Clfor [DJsince
The sentence should read, “I have been to the Great Wall three
times since 1979. "Therefore, You should choose[D].

Sample Answer

(AI(BI(CI[@]
1. The weather may not be fine tomorrow,in ____ case we’ll
have to put the trip off. :
[A\;this [(B]that ﬂ(jlwhich [DJwhose
2. ____ we have finished the book we shall start doing some ex-

ercises.
[AJFor now [B!Since that QCjNow that [D]Since now
3. The name Oklahoma is synonymous with the word“Indian”as
it comes from Okla-homma ____ “red people”.
[{A/}neaning [(Blmeans [C_]E_o mean [DJmeant
4. John's score on the test is the highest in the class;he



last night.
[AJshould study {BIshould have studied
[Clmust have studied Eﬁ]might study

5. Closed plane figures like the square or the equilateral triangle
can be grouped into a class __ polygons.
[A]called [Blto call [C/]is called [DJcall as

6. Some experts believe that young children must spend all their

time with their mother if _ sound in body and mind.
[AJthey will grow []%]they expect to grow
FC‘]they are to grow [D]they should grow

7. This is the first vacation ____ with his family since 1985
when he was appointed to his present post.
[AThe spends [Bhe has spent
[CJhe spent tQJhe had spent

8. Hot air accompanied by high relative humidity feels warmer
than

[Alis it actually [Blis actually it
[Clactually it is {DJit actually is
9. He never hesitates to make such criticisms are consid-

ered useful to others.
[Adthat  [Blwhich  [Clas  [DJwhat
10. Jean worked just so much B
[Allike what she was told to [_Ii]as she was told to
[Clas to what she tried to do [DJlike she was told to
Section B
Directions ;
Each of the following sentences has four underlined parts
marked[A],[B],[CJand[D]. Identify the part of the sentence
2



that is incorrect and mark your answer on ANSWER SHEET I
by blackening the corresponding letter in the brackets with a
pencil. (5 points)

Example

A number of foreign visitors were taken to the industrial ex-
[A] [B]
hibition, which they saw many new products.
[C] (D]

Part [C] is wrong. The sentence should read. “A number of for-

eign visitors were taken to the industrial exhibition, where they
saw many new products. ”So you should choose[C].

Sample Answer

(AI[BI[@I[D]
11. The seventeeth century was one in that many significant
[A] (B]

advances were made in both science and philosophy.
(C] [D]
12. The biggest single hobby in America,the one that Americans
(A] (B]
spend most time,energy and money is gardening.
D

[C]

13. That intelligence tests actually give a measurement of the

(ATl [B]
intelligence of individuals are questioned by some eminent
[C] (D]

psychologists.

14. Due to the refraction of light rays, this is impossible for the
[A]
naked eye to determine the exact location of a star close to the
(C] (D]

horizon.

15. He was looking impatient at the salesman, who showed

[A] [B]



no signs of preparing to leave the room.
[C] (D]
16. Industrial management is the aspect of business management
[A] (B] (C]
that was most prominent in the United States for the past
(D]

eighty years.

17. He is attempting to find out how other people have tackled
[A]
the problem and to determine whether or not  that works
[B] [C] (D]

for them work for him.

18. Some of the techniques of which Curtis refers liein a
(A] (B]
no man’s land known to the legislative trade as “backdoor

(C] (D]

spending”.

19. Without the sun we would freeze to die and starve in al-
[A] [B] (C] (D]

most total darkness.

20. He was standing quietly when presently a young woman,who
A]

had been combing her hair and watched him, approached and

(B] [C]
asked him for directions.
(D]
Section C
Directions ;

Beneath each of the following sentences, there are four
choices marked[A],[B],[CJand[D]. Choose the one that best
completes the sentence. Mark your answer on ANSWER SHEET
I by blackening the corresponding letter in the brackets with a
pencil. (10 points)

4



Example
The lost car of the Lees was found ___ in the woods off
the highway.
[Alvanished [BJscattered [CJabandoned [DJrejected
The sentence should read,“The lost car of the Lees was found a-
bandoned in the woods off the highway”. Therefore,you should
choose[C].
Sample Answer
(Al(B]J[@][D]
21. The sunrise as seen from the top of the mountain was a
tremendous . :
[AJpastime [B]refreshment ECZ'spectacle [D_:]scenery
22. The threat of confrontation between the two countries
after the peace talk.
[AJsubdue [B]submltted {C]submerged [@]subsnded

}’(

23. Every day they sent information to us, ___ of whether it’s
useful or not.
[AlJirresponsible [Blirreconcilable
[Clirresistible [Dlirrespective
24. The social order demands unity and widespread agreement;
both ____ are destructive to creativity.
[“\_-:]dispositions [Bltraces [C]lmarks @]traitsé&) fts.
25.On labour Day the workers will march in _ through the
town,

[AJprocess [B:]procedf'?I C}Iprocessn(fk [D]progression
26. The teacher gave the students extra work because she was
by all noise and talking in the classroom.

[Aldegenerated [g]exasperated

4



[CJterminated [DJencouraged

27. Some people believe that “King John”was written by Shake-

28.

29.

30.

31.

32.

33.

34.

6

speare, but some people think it might be written by an
author,

[AJauthentic [BJanonymous [CJantique {DJambiguous

Neanderthal Man __ most of the old world between

75 000 BC and 40 000 BC

[AJinfluenced [Q]dominated

[CJcommanded [DJsupervised

There’s not much _____ of my being able to come to see you

before next month, 7 [ﬁ; .

{AJpromise [B]peLspﬁ)ctlve [ijr& ct [DJexpectation

The president’s ___ for the refugees caused him to admit a

very large number of them.

[AJcourtesy [B_]compassion [Clhostility [D]Jrespect

The tourists ___ through the fog,trying to read what was

engraved on the gravestone Shakespeare had chosen for him-

self, R .

[(Alpeeped [Blglimpsed (Clglanced [D7Jpeered }ﬂ2~ i}\%

The teachers and parents agree that it is a hint of what might

be expected from _____ generations.

[Alsuperb [BJsupreme [gjsubsequent [D]subordinate

George and Tom both wanted the apple;their _ _wasto

share it.

[AJargument [Blquarrel [Clcompromise [,Q’;ldecision

The tenant must be prepared to decorate the property

the terms of the agreement.

[ A]with regard to [B]with the help of



[Clin accordance with [DJin reference to

35. A camera takes light rays  off subjects and focuses
them on a sheet of film,
[Aldisguised [Bldefined [(i]bounced [DJincorporated

36. Few scientific breakthroughs are discovered merely by

{AJspeculation [B]coincidence
[Cldedication [DJimagination
37.1f we do not take steps to protect the world’s wild life,many
species of birds and animals are likely to ___ completely.
(Aldie out [Bldie down [Cldie away [D]die off

38. The firemen inspected an abandoned warehouse for potential

firey
[AJhazard [B]warning
{CJsubstitution [D]characteristic
39. Our guess,that the managers would react ____ to our deci-

sion,turned out'to be wrong.
[Alactually [Blsolely [Clstrongly [D]utterly
40. It is not profitable to provide bus services in districts where
the population is widely
[AJspaced [Bldivided [Clscattered [DJseparated

Part T Cloze Test

Dircctions :

For each numbered blank in the following passage ,there are
four choices marked[AJ,[B],[CJand[D]. Choose the best one
and mark your answer on ANSWER SHEET I by blackening the
corresponding letter in the brackets with a pencil. (10 points)

7



According to the figures just published by the United States
Department of Agriculture,the diet of the average American has
changed considerably in the past twenty years. Americans are
__ 41 eating more chicken, fish,and seafood but less lamb and
veal VM4 (). Cheese has become a __ 42 American food with
consumption up 71 percent in the _ 43 two decades. Calorie-
conscious Americans are consuming less whole milk and butter
than _ 44 before. On the other hand,the use of sugar and other
sweeteners has climbed _ 45 ,largely because of a 175 percent
increase in soft drink consumption. The figures also _ 46 that
the average American eats eighteen pounds of ice cream a year.

Although the American diet has changed,the 47 Ameri-
can family still spends less than 20 percent of its disposable(R] H
B {# A & )income on food,less than almost any other country in
the world.

And in a related story,the __ 48 of a Gallop poll (R & i
B on the foods Americans like the least were released today.
Snails topped the list as the most unappealing food for Ameri-
cans;43 percent of those _ 49 said they would never eat snails.
Brains came in a close second, 50 by 41 percent of those

polled. Only 5 percent of the respondents said they would never

eat liver.

41. [AJmeanwhile [Blnow [CIsometimes [DJseldom
42. [[ATfavorite [Blfavorable [CJpossible [DJenjoyable
43. [;\]future [Bllatest [CInext :‘D}past

44. [Anever [Bleven [Clever [DJlong

45, [A]slowly [lé]sharply {Clgradually [D]down

46. [é]show [B]claim [Cldisplay [D]declare

8



47. [AJmean [Blaverage [CJmajor [DJminor
48. [A]Jconsequences[ B Jinfluences [Clselections [@D)Jresults
49. [AJanswered [l}_]questioned {Clinsisted  [D]challenged
50. [AJaccepted [Blpreferred [Cjrejected  [D ldenied

Part T Reading Comprehension

Directions

Each of the passages below is followed by some questions.
For each question there are four answers marked A,B,C and D.
Read the passages carefully and choose the best answer to each
of the questions. Then mark your answer on the ANSWER
SHEET by blackening the corresponding letter in the brackets.
(40 points)

Passage 1

Patents were first issued in the U. S. to promote the progress
of science and the useful arts. They provide an incentive for in-
vention and innovation. New products are developed through re-
search undertaken by individual inventors and by firms. Research
requires resources and time. Without the protection that a patent
provides, the results of research would become available to the
general public very quickly. If research did not lead to expanded
profits,very little research would be done.

Suppose, for example, that the industry producing blank
videocassettes is competitive,and that the full economic cost (in-
cluding normal profit)of producing videocassettes is $ 5 each. In
a perfectly competitive market, price will be driven to average
cost,and consumers will pay $5 per tape.

Now suppose that the BASF company develops a new type

9



of tape material that makes it possible to produce tapes of equal
quality for $ 3. If no patent protection existed,every company in
the industry would quickly analyze the new tape material and be-
gin producing tapes at a cost of $ 3. Soon competition would
drive the price of tapes to $ 3,and consumers would enjoy the
full benefits of the new technology. But this would eliminate
BASEF’s in@e&%ive to do research on new materials.

If, however, BASF can protect its new material with a
patent,it can produce tapes for $ 3,charge a price closer to $5,
and make significant economic profits. These profits reward the
developers of the new material, but they also keep the benefits
from consumers.

The expiration of patents after 17 years thus represents an
attempt to balance the benefits of firms and the benefits of
households ;On the one hand,it is important to stimulate inven-
tion and innovation,on the other hand,invention and innovation
do society no good unless their benefits eventually flow to the
public.

51. Which of the following is not the purpose of patents?
To ensure that the patentees will get the highest profit.
[B]To encourage scientific research.
[C]To protect inventions and innovations.
[@]To increase the competition in the market.
52. In the example given in the second paragraph,if the videocas-

settes are sold at $ 5 each,the companies in this industry will

[A Jstill make some money [B]make a lot of money
(CInot make any money [DIsuffer a loss
10



53. What would happen if BASF didn’t get a patent for its new
tape material?
[AIBASF would get the normal profit.
[BIBASF would not get any profit.
[MThere would be less competition in the tape market.
[D]The price of the new material would go up.
54. Which of the following is the result of patent protection?
[A]The price of the patentees’ products is lower than that of
other companies.
[B1Patentees make normal profits.
[\CﬁThe public cannot enjoy the full benefits of the invention
till later.
[D]Inventions and innovations are hindered.
Passage 2

Alaska is the largest of the states in size and the second
smallest in population. Nearly everything about this 49th state is
big. Its Mount McKinley is higher than any other peak in North
America. Its Yukon River is one of the longest navigable water-
ways in the world. Huge animals still thrive in its open spaces
Kodiak.

Alaska is a land of spectacular contrasts ssmoking volcanoes
and frozen tundra,hot springs and ice floes screeping glaciers and
virgin forests. This vast,raw,and rough land thrusts a chain of
volcanic islands more than a thousand miles southwest into the
Bering Sea. Reaching beyond the international date line,the land
area originally spanned four time zones. It stretches northward
far into the Arctic Circle,and to the south its Panhandle extends

for miles between the Pacific Ocean and the Canadian Rockies.

11



The Stars and Stripes have flown over Alaska since March
29th,1867,when the vast land was purchased from Russia for 7.
2 million dollars. In 1959 Alaska became the first new state since
New Mexico and Arizona had achieved statehood in 1912.

The state is so large that it increased the area of the United
States by a fifth. Alaska is more than twice the size of Texas.
About a third of the vast area is forested,and glaciers cover more
than 28 800 square miles. The Malaspina glacier complex is larg-
er than the state of Rhode Island.

The name Alaska comes from the Aleut word alaxsxaq,
meaning object toward which the action of the sea is directed,
that is,the mainland. Its nicknames are the Land of the Midnight
Sun and America’s Last Frontier. It was once labeled“Seward’s
folly”and “Seward’s icebox”in ridicule of the secretary of state
who negotiated the purchase of what was considered a burden.
55. Which of the following is among the contrasts of the state

mentioned in the passage?

[AJSmoking volcanoes and hot spring.

[BJExpanding ice and primitive forests.

[C]The Arctic Circle and Bering Sea.

[D]Volcanic islands and international date line.

56. When was Arizona admitted to the U.S. ?
[AJIn 1867 when Alaska was bought from Russia.
[B147 years before Alaska was.
[C]Near half a century before Alaska was bought.
[DJ45 years after Alaska was.

57. The nickname of the state, “Seward’s icebox”, shows that

12



